VCE & PDF https://www.passapply.com/hpe2-w05.html
2024 Latest passapply HPE2-WO05 PDF and VCE dumps Download

PassApply.com

HPE2-W05°%4

Implementing Aruba IntroSpect

Pass HP HPE2-WO05 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/hpe2-w05.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

HPE2-WO05 PDF Dumps | HPE2-W05 VCE Dumps | HPE2-WO05 Study Guide 1/3


https://www.passapply.com/hpe2-w05.html
https://www.passapply.com/hpe2-w05.html
https://www.passapply.com/hpe2-w05.html

VCE & PDF https://www.passapply.com/hpe2-w05.html
2024 Latest passapply HPE2-WO05 PDF and VCE dumps Download

PassApply.com

QUESTION 1

You are administering an IntroSpect Installation. While monitoring the load on the IntroSpect Packet Processors, you
think that one Packet Processor is overloaded. Is this a correct statement about the possible overload? (As a general
rule, the data rate should be below 5000 event/sec.)

A. Yes

B. No

Correct Answer: A

QUESTION 2

While reviving the logs at a customer site you notice that one particular device is accessing multiple
servers in the environment, using a number of different user accounts. When you question the IT admin,
they tell you that the computer is a JumpBox and running software used to monitor all of the servers in the
environment.

Would this be a logical next step? (As a next step, you should audit all of the accounts that are being used
on the JumpBox to determine if the JumpBox is being accessed by unauthorized accounts.)

A. Yes

B. No

Correct Answer: A

QUESTION 3

While investigating alerts you notice a user entity has triggered a historical alert for Large Internal Data Download. While
investigating the alert, you notice that the download came from a different device than normal for the user. Based on
these conditions, is this a possible cause? (This is a classic user account take over pattern.)

A. Yes

B. No

Correct Answer: A

QUESTION 4

An analyst notices that a disabled user account has been enabled. Is this an action that the analyst should take? (Allow
the system to run for 15 days to establish a historical baseline, and determine if this account is a threat.)

HPE2-W05 PDF Dumps | HPE2-W05 VCE Dumps | HPE2-W05 Study Guide 2/3


https://www.passapply.com/hpe2-w05.html
https://www.passapply.com/hpe2-w05.html
https://www.passapply.com/hpe2-w05.html

VCE & PDF https://www.passapply.com/hpe2-w05.html
2024 Latest passapply HPE2-WO05 PDF and VCE dumps Download
PassApply.com

A. Yes
B. No

Correct Answer: B

QUESTION 5

In a meeting with a customer that runs a fully automated manufacturing facility that is connected to the business and
corporate offices, the operations manager asks why they need IntroSpect to monitor the manufacturing network. Is this
a reason they should monitor the manufacturing network security? (The devices on the automation network are
vulnerable to attack because they are highly functional and could be weaponized by an attacker and used to attack the
corporate network.)

A. Yes

B. No

Correct Answer: A

Reference: https://www.arubanetworks.com/assets/ds/DS_IntroSpect.pdf
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